Engineering Statics - MECH 223

Review Problems for the Final Exam — Set 2

1. A rear-wheel-drive car is stuck in the snow between other parked cars as shown. In an
attempt to free the car, three students exert forces on the car at points A,B and C while the
driver’s actions result in a forward thrust of
40 Ib acting parallel to the plane of rotation
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2. For the machine element shown, locate the z
coordinate of the center of gravity.

Solution:
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3. Determine the force in each of the embers located to

the right of DE for the inverted Howe roof truss shown.

State whether each member is in tension or
compression.
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4. A Warren bridge truss is loaded as shown. Determine

the force in members EG, FG, and FH. 625k 125R 125R 1257 1256
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5. Determine the moments of inertia of the shaded area
about the x- and y-axes. Use the same differential
element for both calculations.
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